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Section 10: Circuit Analysis I (Simple Series and Parallel
Circuits)

%

1. Solve the circuit.
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2. Solve the circuit.
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3. Solve the circuit.
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4. Solve the circuit.

A, =601 R, = B0} AR, =300
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Three resistors of 10.0 Q, 6.0 Q2 and 2.0 Q are connected in
series across a 24 V battery. Find the current through and
the voltage drop across each resistor.

Rq
10 2

R, 10 Q I 13 A vV, 13V
R, 60 I, 13 A Vs 78V
R 20 I5 13 A Vs 26V
Ry 18Q It 13 A VA 24V
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6. Three resistors are connected in series. R, = 6.0 Q. The battery
is 24 V and the voltage drop across resistor 2 is 3.0 V and the
voltage drop across resistor 3 is 2.0 V. Draw a diagram of the
circuit and find R, R5, V, and I,.
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7. A parallel combination of 120 Q, o 2oL
. 1 T VWAN
240 €, and 360 € 1s connected [, =
across a 24.0 V power supply. Find 2400
the total current supplied by the R, eAN
battery. ‘
R 36000
3 1YV
I, L IJ I,
oy
24 Y
R, 120 O I 0.20 A vV, 24V
R> 240 O I, 0.10 A Vs 24V
R; 360 O 15 0067A  |Vs 24V
Ry 65 Q I+ 0.37 A V1 24V
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8. Three resistors are connected in parallel
R, =800, I, =204, I,=404, I,=64
Draw the circuitand find V.V, I, R. R,, and R,

L Ran €00
I L,22A [Tz YA Lay=6-0A

Ri] 4y |I] QA Vil ygv
Rzl j2n [ dA Vol gV
R3| &S I3 b A Vil Ygv
Rel gy _n [l 12A [V Y€V

O Vg = TR(LA)(E D)= Y&V
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